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Math 2250, Fall 2011, Quiz 7 - October 21, 2011 R. Bruner =
Here is a matrix A and its reduced row echelon form:
o 7
1 2 5 1 3 1013 -10
-2 2 4 4 3 — 01 7/3 1 0
-4 1 1 5 1 0 0 0 01
21 3 -1 3 00 0 00

Give bases for Null(A) and Col(A).
Do the dimensions of these subspaces add up to the correct total?

3 L

/ /

Bosis L0200~ ) =

CJ .l;o ‘l’ X d 5
avyé by T uyuvlg V.2 owa .
¢ v 4)()() " ‘fé P]\/() (“ue i b

S 1/

Bas‘ns 1[OY‘ Nu)}m’) = =73 wc': 2 SmE

l

—_— o
0 /7
X, =3 3 Xy
7(7, = P’; Xs ')(L{
X3— ¥z p ] ' a ’ﬂfz ]\/ul/ g}gacg
My = X i 1Y
X5 = 0

Jim (f h) + of v (Nu”(f{"))
= I

- 5

\)

\(gg j—ﬁe CJIM'@”SIMS C{C/C{ u/JWLD +€€

SO

CWC?L %M v/fe Q//ﬁexﬁéidﬂ cgg #ﬁe Jofmg;bz



